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Quiz 15, Attempt 1
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[bookmark: _GoBack]Test the null that the median is 0.4 against the alternative that it is less than 0.4.  Find the p-value.



Quiz 13, Attempt 2
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Write down the p-value in terms of the appropriate distribution.
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1. The following 20 obseryations are obtained from a random number generator.

0.48, 0.10, 029, 031,086, 0.91, 0.81, 0.92, 0.27, 0.21;
031, 0.39,°0.39, 047, 0.84, 0.81, 0.97,-0.51, 0.59, 0.70
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5. Ina certain genetic problem it is believed that brown will occur with probability 1/4, white
with probability 1/4, and spotted with probability 1/2.
(a)_ Test the hypothesis that this model is correct at « = 0.10, if the following results
were.observed in 40 trials:

Brown White Spotted

Observed 5 15 20




